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String sl = "cee”s
sl.concot("fff");
System out printin(sl);
A. The string "cec” .
B. The string "cecfff".
C. The string "fff".

D. The string "fffece”
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switch(x)
{ cose | :
System . out printin( " Messoge |");
cose 1 :
cose 3 :
System.out printin("Messoge 1" );
cose 4 :
System.out printin("End” );
}
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public class Demof

public stotic void main(Stringl] args) {
Integer o = new Integer(l);
Integer b = new Integer(1);
if(a==
System out printin( “Hrue” );

else

System.out printin( “false” );

}
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public closs TestThis{
privote int i=0;
TestThis increment(){
I++;
return this;
}
void print(){
System.out printin(i);

}



public stotic void main(Stringl] args){
TestThis x = new TestTAis();

x.increment().increment().increment().print();

}
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class J {
stotic void swap(String 0, String sl) {
String s = s0;
s0 =sl;
sl =s
}
public stoatic void main(String argsl]) {
Stringlls = { "I", "1" };
swop(s[01, s[11);
System.out. printbn(s0] + s[11);

}
}
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public closs test {
static int m = 9;
public stotic void main(Stringl] args) {
test fdl = new test();

fdl .m++;

test fdl = new test();

System.out printin(fdl.m + “,” + fdl.m);
}

}
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public closs Demo {

public stotic void main(Stringl] args) {

inti=11;

System . out printin(i += 7 == *= j);

}

}
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class QI{

public static void main (String argsf 1) {
double d=1.1%;
Dec dec=new Dec( );
dec .decrementD ;

System.out printinD ;

classs Dec{



public void decrement(double decMe){
decMe = decMe — 0.1;

}
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public closs Shelf{
public stotic void main(Stringl] arguments) {
System.out printin("Shelf!");
Book b = new Book();
b.get();

}
class Book {

public void get() {
System.out printbn(" book!");

}
class Student {

public void read() {
System.out printin ("read o book!");

}
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